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II (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ 
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ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
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Ѐ 2017/2018 ЀЀЀЀЀЀЀ ЀЀЀЀ 
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ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ II (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ѐ 2017/2018 ЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀ 2. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ / ЀЀЀЀ. 
Ѐ. Ѐ. ЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀ. – ЀЀ-
ЀЀЀ: ЀЀЀ-ЀЀ ЀЀЀЀЀ. – 20 Ѐ. 

 
 
 
 

CЀЀЀЀЀЀЀЀЀЀ: 

ЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀ 
(ЀЀ) «ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ»),  

ЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ă 1» ЀЀЀЀЀЀ ЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ Ă1» 
ЀЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ Ă 8 ЀЀЀЀЀЀ ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ». 

 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ): 

ЀЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
Ѐ ЀЀЀЀЀЀ ЀЀЀ 
 
 

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 12.10.2017 

ЀЀЀЀЀЀ 60Ѐ84 1/16. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ. ЀЀЀ. Ѐ. 1,2 

ЀЀЀЀЀ 979 ЀЀЀ. 

 
 
 
 
 
 
 
 
 
 

© ЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀ Ѐ. Ѐ., 
2017 

© ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀ», 2017  
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ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» 
 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ) ЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ!  
 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ 
«ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀ Ѐ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ) ЀЀЀЀЀ – ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 7–8-Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ 9–11-
Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ.  

 

Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 7–8-Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀ-
ЀЀЀЀЀ 9–11-Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  
 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ-
ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ) ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ». 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 
Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ-
ЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ: +79128253610 (ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ). 
 

ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

 

7–8-Ѐ ЀЀЀЀЀЀ 
Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ! 
1. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ! ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ – Ѐ 0 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 0 ЀЀЀЀЀЀ.  
2. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀ Ѐ 2 ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ: 1 ЀЀЀЀ Ѐ 41 = 41 ЀЀЀЀ (Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ);  
2 ЀЀЀЀЀ Ѐ 9 = 18 ЀЀЀЀЀЀ (Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ). 
ЀЀЀЀЀ: (41 + 18) = 59 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀ. 
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9–11-Ѐ ЀЀЀЀЀЀ 
Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ! 
1. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ! ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ – Ѐ 0 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 0,25 ЀЀЀЀЀ, 
Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀ 0,25 ЀЀЀЀЀ (4 ЀЀЀЀЀЀ) Ѐ Ѐ 0,5 ЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀ 0,5 ЀЀЀЀЀ (2 ЀЀЀЀЀЀ). 

2. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» ЀЀЀЀЀ-
ЀЀЀЀЀЀ Ѐ 2 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 0 ЀЀЀЀЀЀ. 

3. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 2 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 
0 ЀЀЀЀЀЀ. 

4. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀ, ЀЀ-
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ: 1 ЀЀЀЀ Ѐ 42 = 42 ЀЀЀЀЀ (Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ); 

2 ЀЀЀЀЀ Ѐ 6 = 12 ЀЀЀЀЀ (Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ); 
2 ЀЀЀЀЀ Ѐ 8 = 16 ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ; 
1 ЀЀЀЀ Ѐ 8 = 8 ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ). 
ЀЀЀЀЀ: (42 + 12 + 16 + 8)= 78 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ. 
 
ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 7–8-Ѐ, 9–11-Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ – 100 ЀЀЀЀЀЀ.  
ЀЀ ЀЀЀ: 30 ЀЀЀЀЀЀ – ЀЀ ЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – 30 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ – 25 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ –
15 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ «ЀЀЀЀЀЀЀЀ» ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ.  

 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 9–11-Ѐ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀ 3000 Ѐ – 9 ЀЀЀ 30 ЀЀЀ (570 ЀЀЀ), Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ 
ЀЀ 2000 Ѐ – 7 ЀЀЀ 15 ЀЀЀ (435 ЀЀЀ). 

 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀ Ѐ 9–11-Ѐ ЀЀЀЀЀЀЀ – 78 ЀЀЀЀЀЀ; Ѐ 7–8-Ѐ ЀЀЀЀЀЀЀ 59 ЀЀЀЀЀЀ. 
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1. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ă 1: 
M

NK
X

i

i

Ѐ

= . 

ЀЀЀЀЀ Ѐi – «ЀЀЀЀЀЀЀЀ» ЀЀЀЀ i –ЀЀ ЀЀЀЀЀЀЀЀЀ;  
Ѐ – ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ni – ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ – ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ: 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 30 ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ Ѐ.Ѐ.) – 70 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 78 ЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 

92,26
78

70Ѐ30
==X  ЀЀЀЀЀЀ. 

 
2. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ă 1: 

M

NK
X

i

i

Ѐ

=  

ЀЀЀЀЀЀЀЀ: 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 25 ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ Ѐ.Ѐ.) – 14,00, 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 21. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 

66,16
21

14Ѐ25
==X  (ЀЀЀЀЀЀ). 

 
3. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ă 2: 
i

N

MN
Ѐ

Ѐ

= . 

ЀЀЀЀЀ Ѐi –  «ЀЀЀЀЀЀЀЀ» ЀЀЀЀ i–ЀЀ ЀЀЀЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀ, ЀЀЀ 9–11-Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ 
1) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 9–11-Ѐ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀ 3000 Ѐ – 9 ЀЀЀ 30 ЀЀЀ (570 ЀЀЀ), Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ 
ЀЀ 2000 Ѐ – 7 ЀЀЀ 15 ЀЀЀ (435 ЀЀЀ). 

2) ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ-
ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ: 
ЀЀЀЀЀ Ѐ – ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

30 ЀЀЀЀЀЀ, 
N – ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ Ѐ.Ѐ.) – 10 ЀЀЀ 34 ЀЀЀ (634 ЀЀЀ), 
Ѐ – ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ 9 ЀЀЀ 30 ЀЀЀ (570 ЀЀЀ). 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 
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97,26
634

570Ѐ30
==Ѐ  ЀЀЀЀЀ.  

ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ: 
ЀЀЀЀЀ Ѐ – ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

30 ЀЀЀЀЀЀ, 
N – ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ) – 9 ЀЀЀ 55 ЀЀЀ (595 ЀЀЀ), 
Ѐ – ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ 7 ЀЀЀ 15 ЀЀЀ (435 ЀЀЀ). 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 

93,23
595

435Ѐ30
==Ѐ  ЀЀЀЀЀ. 

 
4. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀ Ă 2: 
i

i

N

MN
Ѐ

Ѐ
=  

ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ: 
Ѐ – ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 15 ЀЀЀ-

ЀЀЀ, 
N – ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – 1 ЀЀЀ 02 ЀЀЀ (62 ЀЀЀ), 
Ѐ – ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ 24 ЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 

80,5
62

24Ѐ15
==Ѐ  ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ – 100 ЀЀЀЀЀЀ. 

 
 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, 7–8-Ѐ ЀЀЀЀЀ. ЀЀЀЀЀ, 9–11-Ѐ ЀЀЀЀЀ 
 

Ă 

Ѐ
. 

Ѐ
. 

Ѐ
. 

Ѐ
ЀЀ

ЀЀ
Ѐ
Ѐ 

Ѐ
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. 

Ѐ
Ѐ
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ЀЀ
Ѐ
Ѐ 

Ѐ
ЀЀ

Ѐ
Ѐ
Ѐ
ЀЀ

Ѐ 
Ѐ

Ѐ
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ЀЀ
-

Ѐ
Ѐ

Ѐ
 Ѐ

ЀЀ
Ѐ
Ѐ

Ѐ 

Ѐ
ЀЀ

Ѐ
Ѐ

Ѐ
, 

Ѐ
ЀЀ

Ѐ
Ѐ

 

Ѐ
ЀЀ

Ѐ
Ѐ
Ѐ
ЀЀ

Ѐ 
Ѐ
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Ѐ
Ѐ
-

Ѐ
ЀЀ

Ѐ
Ѐ
Ѐ 

Ѐ
ЀЀ

Ѐ
Ѐ
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Ѐ
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Ѐ
Ѐ
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/Ѐ
 

Ѐ
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Ѐ
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Ѐ
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Ѐ
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Ѐ
ЀЀ

ЀЀ
 Ѐ

ЀЀ
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Ѐ
Ѐ
Ѐ

ЀЀ
Ѐ

ЀЀ
Ѐ
Ѐ

, 
Ѐ

Ѐ
Ѐ

-

ЀЀ
Ѐ
Ѐ

 

1 ЀЀЀЀЀЀ 

ЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 

Ѐ.Ѐ. 

70 26,92 14 16,66 595 21,93 62 5,80 71,31ЀЀЀЀЀЀЀЀЀЀ

…              
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ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 

 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ» 

(ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 7–8-Ѐ ЀЀЀЀЀЀЀ,  
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 9–11-Ѐ ЀЀЀЀЀЀЀ) 

 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 7–8-Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 9-11 
ЀЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 
ЀЀЀЀЀЀЀ. 

 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ 
1. ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 9–11-Ѐ ЀЀЀЀЀЀЀ, 7–8-Ѐ 

ЀЀЀЀЀЀЀ. 
1.1. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 
0,5 ЀЀЀЀЀЀ. 

1.2. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ Ѐ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ 1 ЀЀЀ 20 ЀЀЀ. 

1.3. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀ 
ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ. 

1.4. Ѐ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (A – G). ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 1,0 ЀЀЀЀ. 

1.5. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ «Ѐ-ЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

1.6. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀ) 
ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

1.7. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ 6,0 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

2. ЀЀЀЀЀЀЀЀЀ 
2.1. ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 

«ЀЀЀЀЀЀЀЀ». ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
2.2. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 5 ЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  
2.3. ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ 

«ЀЀЀЀЀ».  
2.4. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

(«ЀЀЀЀЀЀ») ЀЀЀ ЀЀЀЀЀЀЀ.  
2.5. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
2.6. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ 

0,5 ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
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3. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ  
3.1. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

3.2. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ (9–11-Ѐ ЀЀЀЀЀ), Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

3.3. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 
ЀЀЀЀЀЀЀ. 

3.4. ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 20 ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

3.5. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 1 ЀЀЀ 20 ЀЀЀ, ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀ 10 ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

3.6. ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 5 ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ.  

3.7. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ. ЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 0,5 ЀЀЀЀЀ. 

3.8. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ. 

3.9. ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1,0 ЀЀЀЀ.  

3.10. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ. 

3.11. ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

3.12. ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ Ѐ.Ѐ. 3.10 Ѐ 3.11, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 0,5 ЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ.  

4. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
4.1. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ; 
ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ 
Ѐ.Ѐ.; ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

4.2. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ. 

4.3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. 
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4.4. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

5. ЀЀЀЀЀЀЀЀ 
5.1. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 20 ЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  
 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ 

1 ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ 

2 ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀ 0,5 ЀЀЀЀЀ 

3 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀ 0,5 ЀЀЀЀЀ  

4 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1,0 ЀЀЀЀ  
5 ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 

«ЀЀЀЀЀЀЀ» – ЀЀЀЀЀ 2 ЀЀЀ;  
«ЀЀЀЀЀЀЀЀЀЀ» – ЀЀЀЀЀ 1 ЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ 

6 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ: 

– ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

 
 

0,1 ЀЀЀЀЀ 
– ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ 0,3 ЀЀЀЀЀ 
– ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ  0,5 ЀЀЀЀЀ 

– ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ  1,0 ЀЀЀЀ 
7 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
0,5 ЀЀЀЀЀ 

 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ  
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ 

1 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

0,5 ЀЀЀЀЀ 

2 ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 5 ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ 
3 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ  
1,0 ЀЀЀЀ 

4 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 20 ЀЀЀ 0,5 ЀЀЀЀЀ  
5 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 30 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
6 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ  
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
7 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 0,5 ЀЀЀЀЀ 
8 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀ – ЀЀЀЀЀЀ 0,5 ЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
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ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 7–8-Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 
 

Ă Ѐ.Ѐ. – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

1 ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀ), ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ-
ЀЀЀЀ. 
ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ. 

1,5 ЀЀЀЀЀ 

2 ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ (ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ). 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀ, 
ЀЀЀЀЀЀЀ. 

1,5 ЀЀЀЀЀ 

3 ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ. 0,5 ЀЀЀЀЀ 
4 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ. 
1,5 ЀЀЀЀЀ 

5 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ, 
ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ. 

1,5 ЀЀЀЀЀ 

6 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀ ЀЀЀЀ Ѐ, 
ЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ – ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀ. 

1,0 ЀЀЀЀ 

7 ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ («ЀЀЀЀЀЀ») Ѐ 
ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ. 

1,0 ЀЀЀЀ 

8 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀ. 
ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀ 360º. 

1,5 ЀЀЀЀЀ 

 ЀЀЀЀЀ 10 ЀЀЀЀЀЀ 
 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 7–8-Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ 
 

Ă Ѐ.Ѐ. – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

1 ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀ), ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ-
ЀЀЀЀ. 

1,0 ЀЀЀЀ 

2 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ – ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ – ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ– ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀ 180º. 

2.0 ЀЀЀЀЀ 

3 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ – ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ, 
ЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀ – ЀЀЀЀ ЀЀЀЀЀЀ – ЀЀЀЀЀЀ, 
ЀЀЀЀ ЀЀЀЀЀ. 

2,0 ЀЀЀЀЀ 

4 ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ («ЀЀЀЀЀЀ») – 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – ЀЀЀЀ ЀЀЀЀЀЀ. 

1,0 ЀЀЀЀ 

5 ЀЀЀЀЀЀЀ ЀЀЀЀЀ – ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ 
ЀЀЀЀ ЀЀЀЀЀ. 

1,0 ЀЀЀЀ 

6 ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ – ЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ. 

1,0 ЀЀЀЀ 

7 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 
ЀЀЀ («ЀЀЀЀЀЀЀ») ЀЀ ЀЀЀЀ 90º. 

0,5 ЀЀЀЀЀ 

8 ЀЀЀ ЀЀЀЀЀЀ Ѐ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ - ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – ЀЀЀ-
ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀ 360º. 

1,5 ЀЀЀЀЀ 

 ЀЀЀЀЀ 10 ЀЀЀЀЀЀ 
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ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 9–11-Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

 

ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 
0,1 ЀЀЀЀЀ 0,2 ЀЀЀЀЀ 0,3 ЀЀЀЀЀ 0,4 ЀЀЀЀЀ 0,5 ЀЀЀЀЀ 

A ЀЀЀЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀ 2 Ѐ) 

Ѐ1 

ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀ 

Ѐ2 

ЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀ ЀЀЀЀ 

(«ЀЀЀЀЀЀЀЀ») 

Ѐ3 

ЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀ ЀЀЀЀ 

Ѐ4 

ЀЀЀ ЀЀЀЀЀ, 

ЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ 

Ѐ5 

ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ 

B ЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀ 2 Ѐ) 

B1 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀ  

 

Ѐ2 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ 

Ѐ3 

ЀЀЀЀЀ, ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀ 

Ѐ4 

ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀ Ѐ ЀЀЀЀЀ 

Ѐ5 

ЀЀЀЀЀ ЀЀ-

ЀЀЀ, ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀ 

C ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 

Ѐ1 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ  

C2 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ 

C3 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀ 

Ѐ4 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ 

Ѐ5 

ЀЀ ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀ ЀЀЀЀЀЀ 

D ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ 

D1 

ЀЀЀЀЀЀЀ 

 ЀЀЀЀЀ 

D2 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀ 

D3 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ 

D4 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀ 

D5 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀ 

E ЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀ ЀЀЀЀ 

E 

ЀЀЀЀЀЀЀ ЀЀ 

180° 

E 

ЀЀЀЀЀЀЀ ЀЀ 

360°, ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀ 

E 

ЀЀЀЀЀЀЀ ЀЀ 

360°, ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀ 

E 

ЀЀЀЀЀЀЀ ЀЀ 

540° 

E 

ЀЀЀЀЀЀЀ ЀЀ 

720° 

F ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ 

ЀЀЀ Ѐ ЀЀЀЀЀЀ-

ЀЀЀЀ 

F 1 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀ 

(«ЀЀЀЀЀЀ») 

F 2 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ ЀЀЀ 

(«ЀЀЀЀЀЀЀ») 

F 3 

ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀ 

360° 

F 4 

ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀ 

540° 

F 5 

ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀ 

720° 

G ЀЀЀЀЀЀЀЀЀЀ G1 

ЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀ) 

G2 

ЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀ) Ѐ 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀ ЀЀЀЀ. 

G3 

ЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀ 

90° 

(«ЀЀЀЀЀЀ») 

G4 

ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀ («ЀЀ-

ЀЀЀЀЀЀЀ») 

G5 

ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀ 

(«ЀЀЀЀ») 

H ЀЀЀЀЀЀ     H 

ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ ЀЀЀ ЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀ-

ЀЀЀЀЀ 
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ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
Ѐ. ЀЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 2 ЀЀЀ 
Ѐ.1 – ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ. 
Ѐ.2 – ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. 
Ѐ.3 – ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 
Ѐ.4 – ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. 
Ѐ.5 – ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
Ѐ. ЀЀЀЀЀЀ- ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 2 ЀЀЀ 
Ѐ.1 – ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. 
Ѐ.2 – ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ. 
Ѐ.3 – ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ. 
Ѐ.4 – ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ /ЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ.5 – ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀ. 
Ѐ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
Ѐ.1 – ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 
Ѐ.2 – ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. 
Ѐ.3 – ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 
Ѐ.4 – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 1 ЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
Ѐ.5 – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 1 ЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ. 
D ЀЀЀЀЀЀЀ ЀЀЀЀЀ 
D.1 – ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
D.2 – ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀ. 
D.3 – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 1 ЀЀЀ. 
D.4 – ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 1 ЀЀЀ. 
D.4 – ЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 1 ЀЀЀ. 
Ѐ. ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ 
Ѐ.1 – ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
Ѐ.2 – ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

Ѐ.3 – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ 90° Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ. 

Ѐ.4 – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
Ѐ.5 – ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 
F. ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ 
F.1-5 – ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀ 

ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ 45° – ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 
G. ЀЀЀЀЀЀЀЀЀЀ 
G.1-2-ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ /ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ. 
G.3 – ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ /ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ. 
G.4 – ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ 2-3 ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀ. 
G.5 – ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀ. 
Ѐ. ЀЀЀЀЀЀ 
Ѐ.3, 5 – ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 2-3 ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀ (Ѐ.5 – ЀЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 
Ѐ.4, 5 – ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀЀ (Ѐ.5 –

ЀЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 9–11-Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

 

ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 
0,1 ЀЀЀЀЀ 0,2 ЀЀЀЀЀ 0,3 ЀЀЀЀЀ 0,4 ЀЀЀЀЀ 0,5 ЀЀЀЀЀ 

A ЀЀЀЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀ 2Ѐ) 

Ѐ1 

ЀЀЀ ЀЀЀЀЀ, 

ЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀ 

Ѐ2 

ЀЀЀЀЀЀЀЀЀЀ 

ЀЀ 

 ЀЀЀЀЀ ЀЀЀЀ  

(«ЀЀЀЀЀЀЀЀ») 

Ѐ3 

ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ  

ЀЀЀЀЀЀЀЀ 

Ѐ4 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ 

Ѐ5 

ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ 

B ЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀ2Ѐ) 

B1 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ 

Ѐ2 

ЀЀЀЀЀ, 

ЀЀЀЀЀЀ ЀЀЀЀ, 

ЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀ Ѐ ЀЀЀЀЀ 

Ѐ3 

ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀ Ѐ ЀЀЀЀЀ 

Ѐ4 

ЀЀЀЀЀ ЀЀ-

ЀЀЀ, ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀ ЀЀ ЀЀЀЀЀ 

Ѐ5 

ЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀ («ЀЀЀЀЀЀ» 

C ЀЀЀЀЀЀЀ 

 ЀЀЀЀЀЀ 

Ѐ1 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀ 

C2 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ 

C3 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ 

 

Ѐ4 

ЀЀ ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀ 

ЀЀЀЀЀЀ 

Ѐ4 

ЀЀ ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ 

D ЀЀЀЀЀЀЀ  

ЀЀЀЀЀ 

D1 

ЀЀЀЀЀЀЀ 

 ЀЀЀЀЀ 

D2 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ 

D3 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀ 

D4 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀЀЀЀ 

D5 

ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ Ѐ ЀЀЀЀ-

ЀЀ ЀЀ ЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ, ЀЀЀЀ-

ЀЀЀЀЀЀ 

E ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ 

ЀЀЀ 

E1 

ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀ 

E2 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ ЀЀЀ 

(«ЀЀЀЀЀЀЀ») 

E3 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀ 

E4 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ 

E5 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀ Ѐ 

ЀЀЀЀ ЀЀЀЀ 

F ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀ 

180° 

ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀ 

360° 

ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀ 

540° 

ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀ 

720° 

ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀ 

900° 

G ЀЀЀЀЀЀЀЀЀЀ G1 

ЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀ) 

G2 

ЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀ) Ѐ 

ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀ ЀЀЀЀ. 

G3 

ЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀ 

90° («ЀЀЀ-

ЀЀЀ») 

G4 

ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 

G5 

ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ 

(«ЀЀЀЀ») 

H ЀЀЀЀЀЀ    H 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀ 

H 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ 
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ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ: 
Ѐ.3 – ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. 
Ѐ.1 – ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ. 
Ѐ.1-3 – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ («ЀЀЀЀЀЀ ЀЀЀЀЀЀ»), ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 
Ѐ. 4-5 – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ («ЀЀЀЀЀЀ ЀЀЀЀЀЀ»), ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 

(«ЀЀЀЀЀЀ ЀЀЀЀЀ»), ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

Ѐ.1-5 – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀ 45 ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. 

F. 1 – ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
G.4 – ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ. 

6. ЀЀЀЀЀ 
6.1. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ.  
6.2. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
6.3. ЀЀЀЀЀЀЀ «Ѐ», ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

«Ѐ», ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ.  
7. «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ» 
7.1. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

8. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «Ѐ» 
8.1. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀЀ 
0,1 + 0,5 + 0,2 + 0,3 + 0,1) Ѐ Ѐ. Ѐ. 

8.2. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 1 
Ѐ 2 (9–11-Ѐ ЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (7–8-Ѐ ЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ 
ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ.  

9. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «Ѐ» 
9.1. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ.  

9.2. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ). 

9.3. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 
10 ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀ. 

9.4. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ: ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ 0,1 ЀЀЀЀЀ), 
ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ 0,3 ЀЀЀЀЀ), ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ 0,5 ЀЀЀЀЀЀ). ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ).  
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ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ 1,0 ЀЀЀЀ. 

9.5. Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ: 

– ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ; 

– ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ; 
– ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 2 ЀЀЀ; 
10. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
10.1. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀ 9–11-Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ – 11,00 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ – 
11,4 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ Ѐ 7–8-Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
10,0 ЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀ 10,0 ЀЀЀЀЀЀ Ѐ 7–8-Ѐ ЀЀЀЀЀЀЀ Ѐ 10,0 ЀЀЀЀЀЀ Ѐ 9–11-Ѐ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 7–8-Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ – 
20 ЀЀЀЀЀЀ; 

Ѐ 9–11-Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ – 21 ЀЀЀЀ; 
Ѐ 9–11-Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ – 21,4 ЀЀЀЀЀ. 
10.2. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. 
11. ЀЀЀЀЀЀЀЀ. 
11.1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

11.2. ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «Ѐ» ЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «Ѐ» ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

12. ЀЀЀЀЀЀЀЀЀЀЀЀ 
11.1. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 3ЀЀ, ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 12,5 ЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀ Ѐ 1,5 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. 

11.2. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 1,0 ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀ 9–11-Ѐ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
1-Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

Ѐ-1; Ѐ-5; Ѐ-2; F-3 G-1 Ѐ Ѐ.Ѐ. 
ЀЀЀЀЀЀЀЀЀ  (ЀЀЀЀЀ) 
1,2 ЀЀЀЀЀ 

2-Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ) 
3-Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ) 
4-Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ) 
 ЀЀЀЀЀ ЀЀЀЀЀ 
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ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ  
«ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ – ЀЀЀЀЀЀЀЀЀ» 

(ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 7–8-Ѐ ЀЀЀЀЀЀЀ,  
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 9–11-Ѐ ЀЀЀЀЀЀЀ) 

 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀ-
ЀЀЀ». 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 7–8-Ѐ ЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 9–11-Ѐ ЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  
 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
1. ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ. 

2. ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀ 10 ЀЀЀ) ЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ. 

3. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
3.1. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ-

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 6 ЀЀЀЀ-
ЀЀЀ. 

3.2. ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀ-
ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 15 ЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

3.3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀ) ЀЀЀЀ. 

3.4. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

3.5. ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀ ЀЀЀ ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

3.6. ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 ЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀ), Ѐ Ѐ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ. 

4. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
4.1. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ:  
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ; 
ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀ Ѐ Ѐ. Ѐ. 
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4.2. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 
ЀЀЀЀ ЀЀЀЀЀЀЀ. 

4.3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. 

4.4. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

5. ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀ 30 ЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
6. ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ 
ЀЀЀЀЀ. 

7. ЀЀЀЀЀЀЀЀЀЀЀЀ 
7.1. Ѐ 7–8-Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ. 
7.2. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 

1 ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
7.3 
– ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ – 6 ЀЀЀЀЀ (ЀЀЀЀЀ – ЀЀЀ Ă7, ЀЀЀЀЀЀЀ – ЀЀЀ Ă6). 
– ЀЀЀЀЀ – 9 ЀЀ.  
– ЀЀЀЀЀЀЀЀЀЀЀ Ă1 – 2 ЀЀЀЀЀЀ ,ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 30 ЀЀ.  
ЀЀЀЀЀЀЀЀЀЀЀ Ă 2 – 2 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀ – 60 ЀЀ. 
 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ 7–8-Ѐ ЀЀЀЀЀЀЀ 
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ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ Ă 1, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀ Ă 1. ЀЀЀЀЀ ЀЀЀ Ă 2 Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀ Ă 1 ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀ ЀЀЀЀЀ Ă 3. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ă 2. ЀЀЀЀЀ ЀЀЀ Ă 4, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 
ЀЀЀЀЀ Ă 3, ЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀ), ЀЀЀЀЀ Ă 4 Ѐ ЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀ (ЀЀЀЀЀ ЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀ 
Ă 1), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ă 5, ЀЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀ-
ЀЀЀ), ЀЀЀЀЀ Ă 6 Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀ), ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ă 2 Ѐ ЀЀЀЀЀЀ 
Ѐ ЀЀЀ ( ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ 2 ЀЀЀЀ Ѐ ЀЀЀЀЀЀ Ă 2 ЀЀЀЀЀЀЀ 
ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ.  

 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ Ă1 ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀ Ă2 ЀЀЀЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀ Ă3 ЀЀЀЀЀЀЀЀЀ Ѐ 3 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ. 
ЀЀЀЀЀ Ă4 ЀЀЀЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ Ѐ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ă5. 
ЀЀЀЀЀ Ă5 ЀЀЀЀЀЀЀЀЀ Ѐ 3 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ Ѐ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ. 
ЀЀЀЀЀ Ă6 ЀЀЀЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ Ѐ 4 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ă6. 
ЀЀЀЀЀЀЀЀЀЀЀ Ă1 ЀЀЀЀЀЀЀЀЀ Ѐ 1,5 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀ-

ЀЀ Ă6. 
ЀЀЀЀЀЀЀЀЀЀЀ Ă2 ЀЀЀЀЀЀЀЀЀ Ѐ 3 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ Ѐ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀ-

ЀЀ Ă8. 
ЀЀЀЀ Ă1, 2, 3 ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀ Ă4 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ă4. 
 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ: 
– ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ, 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ +3 ЀЀЀ; 
– ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ +5 ЀЀЀ; 
– ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ +3 ЀЀЀ; 
– ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ +10 ЀЀЀ; 
– ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ + 15 ЀЀЀ. 
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ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 9–11-Ѐ ЀЀЀЀЀЀЀ 

 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ Ă 1, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀ Ă 1. ЀЀЀЀЀ ЀЀЀ Ă 2 Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀ Ă 1 ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀ ЀЀЀЀЀ Ă 3. ЀЀЀЀЀЀЀЀЀ ЀЀЀ Ă 3, ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ă 2 Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ă 3, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 
Ă 3 Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ Ă 1 Ѐ 2 ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ă 4. ЀЀЀЀЀ ЀЀЀ Ă 4, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 
ЀЀЀЀЀ Ă 5, ЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀ), ЀЀЀЀЀ Ă 6 Ѐ ЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀ (ЀЀЀЀЀ ЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ( ЀЀЀЀЀЀЀЀЀЀЀ 
Ă 1), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ă 7, ЀЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀ-
ЀЀЀ), ЀЀЀЀЀ Ă 8 Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀ), ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ă2 Ѐ ЀЀЀЀЀЀ 
Ѐ ЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ 2 ЀЀЀЀ Ѐ ЀЀЀЀЀЀ Ă 2 ЀЀЀЀЀ ЀЀ-
ЀЀЀ. ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ Ă 5 Ѐ ЀЀЀЀЀЀЀЀЀ 3-Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ Ă 6 
(ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ă 9 Ѐ ЀЀЀЀЀЀЀ 
ЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ 2 ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 
Ѐ ЀЀЀЀЀЀ Ă 2. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ.  

 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ Ă 1 ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀ Ă2 ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 3-Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. 
ЀЀЀЀЀ Ă3 ЀЀЀЀЀЀЀЀЀ Ѐ 1,5 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀ Ă4 ЀЀЀЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀ Ă5 ЀЀЀЀЀЀЀЀЀ Ѐ 3 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀ Ă6 ЀЀЀЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ Ѐ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ă5. 
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ЀЀЀЀЀ Ă7 ЀЀЀЀЀЀЀЀЀ Ѐ 3 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ Ѐ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀ Ă8 ЀЀЀЀЀЀЀЀЀ Ѐ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ Ѐ 4 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ă6. 
ЀЀЀЀЀ Ă9 ЀЀЀЀЀЀЀЀЀ Ѐ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 3 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ Ă1 ЀЀЀЀЀЀЀЀЀ Ѐ 1,5 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀ-

ЀЀ Ă6. 
ЀЀЀЀЀЀЀЀЀЀЀ Ă2 ЀЀЀЀЀЀЀЀЀ Ѐ 3 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ Ѐ 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀ-

ЀЀ Ă8. 
ЀЀЀЀ Ă1, 2, 3 ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
ЀЀЀ Ă 4 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ă4. 
ЀЀЀ Ă 5 ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 3-Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. 
ЀЀЀ Ă 6 ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ: 
– ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ, 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ +3 ЀЀЀ; 
– ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ +5 ЀЀЀ, 
– ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ +3 ЀЀЀ; 
– ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ +10 ЀЀЀ; 
– ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ + 15 ЀЀЀ. 
 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ  
«ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» 

(ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 7–8-Ѐ ЀЀЀЀЀЀЀ,  
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 9–11-Ѐ ЀЀЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ): 

ЀЀЀЀЀЀЀ 7–8-Ѐ ЀЀЀЀЀЀЀ – 2000 Ѐ, 9–11-Ѐ ЀЀЀЀЀЀЀ – 2000 Ѐ. 
ЀЀЀЀЀ 7–8-Ѐ ЀЀЀЀЀЀЀ – 2000 Ѐ, 9–11-Ѐ ЀЀЀЀЀЀЀ – 3000 Ѐ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
 

 
 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ: +79128253610 (ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ). 

 
 


